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Class Comma-operator

{

public static void main (string args[])
{

int sum=0;

for(int i=0, j=0, i<5 B J<5; ++i,
j=i+1)

sum+=i;

System.out.print In (sum);

Ty

(A) 5

(B) 6

(C) 14

(D) Compilation error

What is the valid data type for vari-
able "a" to print "Hello World"?
Switch(a)

{

System.out.print In("Hello World")
¥

(A) int and float

(B) byte and short

(C) char and long

(D) byte and char

From where does break statement
causes an exit?

(A) Only from innermost loop
(B) Terminates a program

(C) Only from innermost switch
(D) From innermost loops or

switches
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Class Comma-operator

public static void main (string args[])

{

int sum=0;

for(int i=0, j=0, i<5 && j<5; ++i,
j=i+1)

sum+=i;

System.out.print In (sum);

1}

(A) 5

(B) 6

(C) 14

(D) Compilation error

"a" & foerd du a1 19y T 8N, SRR
"Hello World" fiie & €1

Switch(a)

%

System.out.print In("Hello World");
¥

(A) int and float

(B) byte and short

(C) charand long

(D) byte and char

Break ReHT Hal & exit &Rl aar 27
(A) % innermost loop X

(B) WM @ THNT @R &

(C) fa% innermost faa

(D) sEre qu 3R Rag

P.T.O.




When does method overloading is

determined.
(A) Atruntime
(B) At compile time
(C) At coding time
(D) At execution time
Memory address of allocated
memory of object.
(A) NULL
(B) Any arbitary pointer
(C) Memory address of alocated
memory of object
(D) Garbage
Which of these operators is used
to allocate memory for an object?
(A) malloc
(B) alloc
(C) new
(D) give
7. Class box
1
int width;
int height;
int length;
.

class mainclass

{

public static void main (string

args(])

box obj=new box();

system.out.print(obj);

3

(A) O

(B) 1

(C) Runtime error

(D) classname@hashcode in
hexadecimal form

US-15144\S
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Hg NaRAfET Be feexaeT & Al &

(A) At runtime
(B) At compile time
(C) At coding time

(D) At execution time

feft smeiae & ford areiides AaRT &

HEH?

(A) NULL

(B) I IRdleY @rEex

(C) 3meiae & ford eidcs R &
3TERE

(D) TREFH

s ¥ g HTReR &1 39N JTSide &

for) Y sradse & o fordd faan S

gl

(A) malloc

(B) alloc

(C) new

(D) give

Class box

!

int width;

int height;

int length;

;

class mainclass

{

public static void main (string
args[])

box obj=new box();
system.out.print(obj);

b

(A) 0

(B) 1

(C) HTEH TR

(D) classname@hashcode

SIS W H|




8. Which of the following is type of
polymorphism in Java?
(A) Compile time polymorphism
(B) Execution time polymorphism
(C) Multiple polymorphism
(D) Multilevel polymorphism

9. Which coding type is used for data
type characters in Java?
(A) ASCII
(B) ISO-LATIN-1
(C) UNICODE

(D) None

10. Default value of Boolean type vari-

able.
(A) true
(B) false
(C) 0
(D) None
11. Range of
Math.random() method is -
(A) 0-1
(B) 0-10
(C) 1-10
(D) 0-o
12. What is the order of Variables in
Enum?
(A) Ascending
(B) Decending
(C) Random
(D) Depends on the order()

method
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O

11.

12.

Srar # 221 213y AR & fad B
PR 2189 &7 3yam fbar S & -

(A) ASCII
(B) ISO-LATIN-1
(C) UNICODE

(D) @Ig &l
gfergm ersw Hdaa @) S degp

(A) true
(B) false

(C) 0

(D) ®I$ el
Math.random #g @' 351 &1 2l 82

(A) 0-1
(B) 0-10

fC) =20

(D) 0-o

eTH ¥ RIYTeT &1 3R T 8 &7
(A) Ascending

(B) Decending

(C) Random

(D) 3ER, #eg W feds &M order ()

P.T.O.




13.

14.

g

16.

1%,

Which one of these is an
assignment operator.

(A)
(B) ==
(C) =
(D) <=

Which one of these is not an object

l=

oriented language -

(A) Java

(B) C#

(C) BASIC

(D) Small Talk

............. is act of representing the
essential features without knowing
the background detail.

(A) Inheritence

(B) Encapsulation

(C) Polymorphism

(D) Data Abstraction

In object oriented programming the
stress is given on -

(A) Procedure

(B) Methods

(C) Class

(D) Data

Which one is not an escape se-
quence in Java.

(A) \o

(B) \d

(C) \n

(D) \t

US-15144\S
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- 14.

15,

16,

1.7,

Prrfarfiae o ¥ sramgenee 3me &l
(A) I=

(B) ==

() =

(D) <=

= @ Bl siferae siaaes dhda el
{

(A) Far

(B) C#

(C) afs®

(D) e D

& a9l &1 T 2l

(A) TeNIC

(B) TAGTIYE

(C) Rt

(D) SeT TawRaRr
sitoide 3mce Maf o gara @l

-

(A) SR

(B) Hugw

(C) goms

(D) 8
frafaRaa # @ @9 &1 Far & vFGY
e & &l

(A) \o

(B) \d

(C) \n

(D) \t
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18. Asc II code for blank is -

19,

20.

21.

22,

(A) 65 (B) 97

(C) 32 (D) 122
Which declaration for character
data is correct?

(A) charch ="A"

(B) charch ="A'

(C) charch =A

(D) charch=a

Which one is Non-Primitive data
type?

(A) Array

(B) Integer

(C) Boolean

(D) Character

The range of Char data type -
(A) 0 to 216-1

(B) 0 to 2%

(C) 0 to 2%°-1

(o) 0 te 21°

One of the Java Keyword is -
(A) NULL

(B) Size of

(C) Friend

(D) Extends

US-15144\S

18. e &1 9IS DI T -

19.

20;

21,

(A) 65 (B) 97

(C) 32 (D) 122
Rrefofaa § @ $Raex 21 & B 9@
EHeRY Wel 87

(A) charch ="A"

(B) charch ="A'

(C) charch =A

(D) charch = a
i 7 B 2 o 2
(A) ®

(B) FIEIR

(C) gfera

(D) RaR

Char type &' 351 da1 28Il & -
(A) 0§ 216-1

(B) 0% 216

(C) 0§ 215-1"

(D) 09 215

22. 399 ¥ AT & Keyword 2|

(A) NULL
(B) Size of
(C) Friend

(D) Extends

P.T.O.




23.

24,

25.

26.

27

For which of the given class sub-
class cannot be created -

(A) Final

(B) Public

(C) Static

(D) Abstract

All syntax errors can be termed as
(A) Exception

(B) Run-time

(C) Compile-time

(D) Logical

Which type of language is Java.
(A) JWeak!y Typed

(B) Moderate Typed

(C) Strongly Typed

(D) None

Object can be called what of a
class?

(A) inheritance

(B) invoke
(C) incentive

(D) instance

Life Cycle of thread is controlled by
(A) IDK

(B) JRE

(C) JVM

(D) None

US-15144\S
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23. gy FrefaRea 8 @ 59 o4 @) sub-

24.

25,

26.

24

class 78l create & Hhd -

(A) Final

(B) Public

(C) Static

(D) Abstract

it e v @) FrfaRea 3 @i
W1 O e &

(A) Exception

(B) Run-time

(C) Compile time

(D) Logical

Jar & s g?

(A) didell TR®

(B) HlEXT THS

(C) Fel TS

(D) & A P TE
siteae, Frg &1 o il @?
(A) FEIe

(B) A

(C) gifea

(D) TR

¥z & g wshbe feas g
i -

(A) JDK

(B) JRE

(C) JVM

(D) g ¥ BIg &I
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20

[ A=

30,

3l

34,

QOP does not support -

(A) Global variable

(B) Abstraction

(C) Polymorphism

(D) Encapsulation

Full name of Jar-

(A) Java Archive

(B) Java Application runner

(C) Java Archive runner

(D) None

Which of these is used to perform
all input and output operations in
Java?

(A) Streams

(B) Variables

(C) Classes

(D) Methods

What does AWT stands for?

(A) All Windows Tools

(B) All Writing Tools

(C) Abstract Window Toolkit

(D) Abstract Writing Toolkit

What will this code print? int arr[]
= new int[5]; system.out.print
(arr);

(A) O

(B) value stored in arr [0]

(C) 00000

(D) Garbage value

US-15144\S
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28. Frefafas 4 S 58 00P T 781 &xar-

(A) TAEd SNvacy
(B) TEREH

(C) UeiHRIEST
(D) TAGSIATH

. Jar &1 QX7 A &°?

(A) Java Archive
(B) Java Application runner

(C) Java Archive runner

(D) ¥ TR T&

. Freafafes & @ fooe vam 39T &

Wt 3qe 3R 3mege sTwes | o
S € -

(A) W=

(B) Nacw

(C) T

(D) Hgw

. AWT ®8H BR?

(A) 3ile fasi| o

(B) 3ficr e ge

(C) weRae faet @ fae
(D) EaRaT Wi ¢ foe

32. &A@ M F6T Code & F3eYe int arr

[] = new int [5] system.out.print
(arr);

(A) O

(B) value stored in arr [0]

(C) 00000

(D) TR deg

P.T.O.



33. Which of these is necessary to

34.

39,

36.

37«

specify at time of array initializa-
tion?

(A) Row

(B) Column

(C) Both Row & Column

(D) None

Which of these keyword is not a
part of exception handling?

(A) try

(B) finally

(C) thrown

(D) catch

Which of these operators can be
used to concatinate two or more
string objects. |

(A) +

(B)
(C) &

(D) 1l

Method used to obtain length to

+ =

string object -

(A) get ()

(B) size of ()

(C) length of ()

(D) length ()

Who invented Java language?
(A) Flamming

(B) James Gosling

(C) Balaguru Swami

(D) Denis Ritchi
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W g NIEBHILI & A T &1 HALD

2

B) Column

C) Both Row & Column
D) ®lg el

vatrer dsfer @1 ard e 22
(A) try

(B) finally

(C) thrown

(D) catch
feraferRaa A4 @ fhg 3ifaRex &1 3uam &
a1 sarer Rl @1 dAdEHT &R & ford
A &l

(A) +

(B) +=

(C) &

(D) 11

R dore o1 3w R sifeiae @ oy
Freprer & fordr grem &

(A) get ()

(B) size of ()

(C) length of ()

(D) length ()

Z# ¥ a7 & inventors ®IF &2
(A) Tl

(B) r Taferm

(C) aremfe Faml

(D) efrr Rl
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38, When you pass array to a method 38

(A) A copy of the array
(B) A copy of the first element
(C) The reference of the array

(D) The length of the array

39, System class is defined in? 39.

(A) java.util
(B) java.ang
(C) java.io
(D) jova.awt
40. Inorderto run ISP, is required.
(A) Mail server
(B) Applet viewer
(C) Java web server

(D) Database connection

11, Why we use array as a parameter 41.

of main method?

(A) Itis syntax

(B) Can store multiple values
(C) Both of the above

(D) None of the above

US-15144\8 [11]

. Old BH U R UTH & ¢ [t Herg @,

al Herg Fn e @xar 27

(A) W B B

(B) W Uellie & @il

(C) W & B

(D) W & o

Rreew aomr fowr dapar # fewigee &7

(A) java.util

(B) java.lang
(C) java.io

(D) java.awt

. JSP @ T & fere fbyay anavadar

&

(A) AT TG

(B) TueT IR

(C) el d§ Ixax

(D) SN daem

& R P I Herg & Reftex F @ wam
B B 7

(A) gg Rrdaw &

(B) UE ARV deq¥ R &Rl
(C) (A) 3R (B) A

(D) § A ®I§ T

P.T.O,

AALAP AT TR e e



42. Suspend thread can be revived by

43,

44,

45,

using -

start ()
suspend ()
resume ()

(D) yield ()

Converting a primitive type data
into its corresponding wrapper class
object instance is called -

(A) boxing

(B) wrapping

(C) instantiation

(D) autoboxing

Which method executes only ones?
(A) start ()

(B) int()

(C) stop ()

(D) destroy ()

x=X+1 is equivalent to -

(A) ++X
(B)
(C)

(D) None of these

x=x-1

US-15144\S
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42, wats O B Ragd X 99 & -

43.

44,

45,

(A) ®wIE fug |
(B) Tfs dug A

(C) I=gm Hug ¥

(D) s Hes A

TiifeT er2y 2e1 @ 39d BRFuHe
R T Sifsiae # geem @ 7 ded
&?

(A) aifdsm

(B) e

(C) gcfiuem

(D) sifcrarfdeT

ol a1 dorg ve IR & vailagge T &7
(A) start ()
(B)
(C)
(D)
x=x+1 foad TaR &?

(A) ++X

int ()
stop ()

destroy ( )

(B) x++
(C) x=x-1

(D) g ¥ ®Ig Tl
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46.

47.

48.

49,

Which of the following is not man-
datory in a variable declaration.
(A) a semicolon

(B) anidentifier

(C) an assignment

(D) a data type

The information written in Java af-
ter // is ignored by?

(A) Interpreter

(B) Compiler

(C) Programmer

(D) All of the above

What will be the output of the fol-
lowing code?

byte x=64, y;

y=(byte) (x<<2);
system.out.print In (y);

(A) © (B) 1

(C) 2 (D) 64

If m and n are int type variables,
what will be the result of the ex-
pression -

m%n

when m=5 and n=2?

(A) O

(B) 1

(C) 2

(D) None of the above

US-15144\S
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Freferaa o @ aAaa Swared & ford
a1 3if-ard Tgl?

(A) ADIET

(B) 3MgSIBRIR

(C) IrmgTiT

(D) Ser ey

Sar v § geRIeE i // & 96
3

(A) 3T

(B) HHSR

(C) WHmR

(D) 9% (IR v g)

ST HIg &I HIFTYS
byte x=64, y;
y=(byte) (x<<2);
system.out.print In(y);
(A) O (B) 1
(C) 2 (D) 64
3R m 3R n int TBY dAEed §1 dl
39 UaiTH &1 A dN?

m%n

3§ m=5 3R n=2?

(A) 0

(B) 1

(C) 2

(D) IR e d F ¥ &

P.T.O.



50. Which of the following do not rep-
resent legal flow control state-
ments?

(A) break;

(B) return;

(C) exit ();

(D) continue outer;

51. What is the default return type of
main ().

(A) void

(B) double
(C) float
(D) int

'52. AJava program is first

(A) executed, run

(B) compiled, run

(C) run, compiled

(D) interpreted, compiled
53. Consider the statement "x=(a>b)?
a:b", then the value of x is 19 if
a=19 and b=12.
(A) True
(B) Not supported
(C) False

(D) None of the above

US-15144\S
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Erefrfa & Q@ @t @ dhe w@ gl
woH< Fel ¢l

(A)
(B)
(C)
(D)
A9 Morg @1 AT Rt THY ¢ -

break;

return;

exit ( );
continue outer;
(A) void
(B) double

float

(D) 3RS, HUECS
g1 ol @ aRat "x=(a>b)? a:b",
then the value of x is 19 if a=19 &

and b=12.

(A) True
(B) Not supported

(C) False

(D) & & 1§ el



54.

55.

56.

57,

Which of the following will produce
a value of 10 if x=9.7?

(A)
(B)
(©)
(D)

Which of the following methods can

floor(x)
abs(x)
rint(x)

round(x)

be used to remove a component
from the display?

(A) delete( )

(B) remove( )

(C) disappear( )

(D) hide()

To prevent any method from over-
riding, we declare the method as,

(A)
(B)
(C)
(D)
What is the type and value of the

static
const
final

abstract

following expression
-4+1/2+2%-3+5.0
(A) int -5

(B) double -4.5
(C) int -4

(D) double -5.0

US-15144\S

[15]

54. Frefefea 3 @ @ @ bae deg 10

a3.

o} s 8

57,

WEGH BN, R x=9.77

(A) floor(x)

(B) abs(x)

(C) rint(x)

(D) round(x)

frafofaa & @ @ @1 dug Fe 3
feoer & gem & foe Juam fear s
el

(A) delete( )

(B) remove( )

(C) disappear( )

(D) hide()

fselt Herg @1 3lta=TEfET | e & ferd
&9 I 71 Raerr awa 82

- (A) static

(B) const
(C) final

(D) abstract
f&d w0 vate @1 Trgy ik dwg @
an -

~4+1/2+42%-3+5.0

(A) int -5

(B) double -4.5

(C) int -4

(D) double -5.0

P.T.O.




58. Which of the following variable dec-
laration would NOT compile in Java
Program?

(A) intVar
(B) intVAR
(C) intVarl
(D) int 1-Var
59. A constructor
(a) Must have the same name as
the class it is declared within.
(b) Is used to initialize instance
variables.
(c) May be declared private.
(A) Only (a) is true.
(B) (@) and (b) are true.
(C) None is true.
(D) (@), (b), (c) are true.

60. InJava, a try block should immedi-
ately be followed by one or more
....... blocks.

(A) Throw
(B) Run
(C) Catch
(D) Exit
61. Which of the following doesn't have
a super class.
(A) System
(B) Object
(C) Lang
(D) Exception

US-15144\S

58. FrafiRad & Q o @1 Rdae eI
AT S § drTs Al e
(A) intVar
(B) int VAR
(C) intVarl
(D) int 1-Var
59. ®gac
(a) T qom § Rascher fasar o &
= & AW 1 & gl
(b) =HH ITAN g AXdad @
SheEEs F S o) B &l
(c) sua wrEdT fBaday ax T &l
(A) R (a) @& 2l
(B) (a), (b) A =& &l
(C) P15 FEl el
(D) (a), (b), (c) A1 w&I &l

60. >ar ® g &6 & I a1k b Al

i TaT 3 AIige?
(A) Throw

(B) Run

(C) Catch

(D) Exit

61. Frfoiaa & ¥ foua g @@ T8l

oy
(A) Frven
(B) 3ifoiac
(C) Lang
(D) THdwH



62.

64,

65.

Which will contain the body of the
thread?

(A) run();

(B) start();

(C) stop();

(D) main();

3. Which types of variables cannot be

accessed outside the class.
(A)
(B)
(C)
(D)
The command Java C

(A)

public

private
protected

Both (B) and (C)

Converts the Java program to
Binary Code

(B) Convert Java program to byte
code

(C) Convert Java program to ma-
chine language

(D) Is not valid Java command
How many times does this code
segment execute

int x=1, y=10, z=1,

do {y==; x++; y==2; y=2; 2++}
while (y>1 & & 2<10);

(A) 1

(B) 10

(C) 5

(D) infinite

US-15144\S
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6L,

63,

64.

65.

Presffiga & @ dg & a8 B <A

LT &7

(A) run();

(B) start();

(C) stop();

(D) main();

Prefafaa § @ fbw aw@ & a0daa &t

FAY & dTeL UHay Ta foar 31 Al

(A) public

(B) private

(C) protected

(D) (B) 3R (C) A B

&AE Java C

(A) ST ST & aseR B # FaC
&al gl

(B) Sirar wum &) ase B ¥ Hac
& gl

(C) Snar M & 7e ohas § Fae
GG

(D) & iar Fwig T& |

fezn a1 @t Amite e AR veilaE

G

int x=1, y=10, z=1;

do {y-=-; X++; y-=2; y=2z; z++}

while (y>1 & & z<10);

(A) 1

(B) 10

(€) 5

(D) infinite

P.T.O.




66.

67.

68.

69.

A method name my Method() that
needs 2 integer arguments is de-
clared as?

(A) public void my Method();

(B) public void my Method(int a,
int b);

public void my Method(int a,
b);

(D) public int my Method(a, b);
Match the following :

(a) Java 1> is a tool for debug-
ging java program

Java h 2> is a tool for creat-
ing C-like header file

Java p 3> runs java byte code
Jdb 4> prints java code rep-
resentation

a-3, b-2, c-1, d-4

a-3, b-2, c-4, d-1

(C) a-1, b-2, c-3, d-4

(D) a-2, b-1, c-3, d-4

The ....and the
abstract classes supporting read-

(C)

(b)

(c)
(d)

(A)
(B)

........ classes are

ing and writing of the byte streams.
(A) object input stream, object
output stream

(B) reader, writer
(C)
(D)

Which method belongs to string

input stream, output stream

none

class?

(A) length ()

(B) compare to ()
(C)
(D)

equals ()
All of them

US-15144\S

(18]

66.

67.

68.

64,

v Hug 5dr a9 my Method() &
M 2 integer 3TRITH o1l & 39 fSdeRR
TR FHA & -

(A) public void my Method( );
(B) public void my Method (int a,
int b);

public void my Method (int a,
b);

(C)

(D) public int my Method(a, b),;

(a) Java 1> STaT T B ST B
B 7

Java h 2> ca?ra?g%‘rs'?qarga
- &1 gd

Java p 3> 37T §15¢ PIS B H
GG

Jdb 4> Fal ®g INFAIH Bl
fie ®xar 2

(b)
(c)
(d)

(A)
(B) a-3, b
(C) a-1, b-
(D) a-2, b
I8¢ IEIRT ® g g fora # Heg avay
el
(A) ISFT TAYC T, STaide

@ _
(B) IR, m5ex
(C) $TIC W, 3MTYe KW
(D) =
FrreferiRaa #ers & @ @7 W g Ren
AT Bl &7
(A) length ()
(B) compare to ()
(C)
(D)

equals ()
All of them



70,

71,

72.

73,

74.

The class at the top of the excep-
tion class hierarchy is -

(A) Arithmatic Exception

(B) Throwable

(C) Class

(D) Exception

Inner classes are?

(A) anonymous classes

(B) nested classes

(C) subclasses

(D) derived classes

Why is this keyword used in Java?
(A) It refers to the current object
(B) It's variable containing value
(C) It refers to previous object
(D) There is no use

Which of the following are wrapper
classes?

(A) Random

(B) Vector

(C) Byte

(D) All of the above

Given the code

String s= new string ("abc");
Which of the following calls are
valid?

(A) S. to upper case ()

(B) S. append ("xyz")

(C) S. set char At (1<'A’)

(D) All of above

US-15144\S
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70.

71.

72,

73.

74.

PSR ———

TRITeT T @ gsie § B Hl
Felle qey FUX gl 87

(A) Arithmatic Exception

(B) Throwable

(C) Class

(D) Exception
IR T a1 Bl 87

(D) EREE FTHd

sar # fog @98 &1 3uam 82

(A) TE B HMeiae B IBT Il &

(B) ;ﬁ%éﬁﬁaﬁ%‘mﬁéﬂﬁ
|

(C) UE WidrIg 3neide @ WBR Hal
&

|
(D) THHI BIS YN Tl
frafoRea 4 @ o 9@ IR 7T 82

(A) Random

(B) Vector

(C) Byte

(D) |+

T R W™ B § BF 9 dg haed
®IeT & - String s=new string ("abc”);
(A) S. to upper case ()

(B) S. append ("xyz")

(C) S. set char At (1<'A")

(D) T4 (IR fear m)

P.T.O.




75.

76.

77.

78.

Which of the following can be used
to copy data from one array to
another?

(A) system.clone

(B) java.lang.to copy

(C) system.array copy

(D) java.lang.clone

Break statement is used to -

(1)
(2)
(3)
(4)
(A)

get out of method
end a program
get out of a loop
get out of the system
1and 2
(B) 1,2and3
(C) 1and3
(D) 3
(1) AWTis an extended version of
swing.
(2) Paint() of Applet class cannot
be overriden.

OR
The Paint() Method of Applet
Class can not be override-
1-F, 2-F
1-F, 2-T
(C) 1-T, 2-F
(D) 1-1, 2-T
If System.in.read() is being used,
the program must specify the

(A)
(B)

...... clause?

(A) throws.java.out.JOException
(B) throws.java.in.IOException
(C) throws.java.io.IOException

(D) throws.java.io.InException

US-15144\S
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75. Frefafad ¥ @ fegdr 3uam v R A

76.

7.

78.

3T B g W A Bt & & ferd e
sG]

(A) system.clone

(B) java.lang.to copy

(C) system.array copy

(D) java.lang.clone

36 Weile & 3uan fear s & -
(1) Hors & &R 3 & ford
(2) WTH P U8 HA & ol
(3) U ¥ TR 3 & ferd
(4) Rreen 9 ae oF & ford
(A) 1and?2
(B) 1,2 and 3
(C) 1and 3
(D) 3
(1) AWT R &1 vaae=g aveM &l
(2) Paint() 36 Tacle F@r g & AT
& 3NaRReT

3reran
vUeie o & Paint() #Hug @l
HaRTBE el foHar 51 |adil
1-F, 2-F
1-F, 2-T
(C) 1-T, 2-F
(D) 1-T, 2-T
3@ System.in.read() &1 39 f&an
ST e @, MUY BT A T o Tes
WHETS FaT &? '

(A) throws.java.out.IOException

(A)
(B)

(B) throws.java.in.IOException
(C) throws.java.io.IOException

(D) throws.java.io.InException

B |



79. Ifavariable is declared final, it must
include ......... value,
(A) integer
(B) no
(C) initial
(D) float
80. Java supports RMI. What does this
RMI stand for?
(A) Random Memory Interface
(B) Remote Method Invocation
(C) Random Method Invocation
(D) Remote Memory Interface
81. Consider the following code
if (number>=0)
if (number>0)
System.out.print In ("Number is
positive");
else
System.out.print In("Number is
negative"); what will be the output
if number is equal to 0.
(A) Number is negative
(B) Number is positive
(C) Both (A) and (B)
(D) None of the above
82. The life cycle of an applet is de-
......... methods.

(B) 3

(D) 5

scribed by

(A) 6

(C) 4
US-15144\S
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e

79. 3R ¥l ded & Wrgad detaw

80.

81,

82,

fson ST, IE@ dan Aoy INavdd 82
(A) integer

(B) no

(C) initial

(D) float

STET RMI @1 aI¢ &=ar &1 &l RMI
gler 8?

(A)
(B)
(C)
(D)
fer ge sma1 d1 & amseye

if (number>=0) a1 g 317

Random Memory Interface
Remote Method Invocation
Random Method Invocation

Remote Memory Interface

number=0

if (number>0)

System.out.print In ("Number is
positive");

else

System.out.print In("Number is
negative");

(A) Number is negative

(B) Number is positive

(C) Both (A) and (B)

(D) None of the above

Tete @l egw el @ R duzw
ar1 fsumree fsan s &2
(A) 6 (B) 3
(C) 4 (D) 5
P.T.O.




83.

| 84.
l
|

86.

85.

int af[], b;
int []c d;
What is the type of variables 'b' and

'd" in the following Java Sni ppet?

(A) 'b'and 'd' areint

(B) 'b' and 'd' are arrays of type
int

(C) 'b'isint variable; dis int array

(D) 'd'isint variable; 'b" is int ar-
ray

Class increment

{

public static void main (string args[])

{int g=3;

System.out.print (++g*8);

What is the output of given Java
code.

(A} 25

(B) 24

(C) 32

(D) 33

Which of these have highest pre-

cedence?
A) ()
(B) ++
(€) *

(D) ==

which of the following is U
g and execute Java

sed to
compile, debu
program?
(A) JVM

(B) JDK

(C) T

(D) JRE

US-15144\S
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83.

84.

85.

86.

int al[] b;

int []c d;

'b' and 'd' ¥Neea @1 ¢y A g
Java ©ie # Fdsdl

(A) 'b'3iR'd"int 8

(B) 'b' 3R 'd' W & int T &

(C) ‘b’ int AT &; 'd' int R &l
(D) 'd’int 3 &; ‘b int W &I
R A TG B B AFCYE §ABA

Class increment

{

public static void main (string
args(])

{int g=3;

System.out.print (++g*8);
What is the output of given Java
code.

(A) 25

(B) 24

(C) a4

(Cp 33

Prfefag # @ frad) wdiits MESH

&7

(A) ()

(B) ++

(€) *

(D) >>
ﬁmﬁ%ﬁﬁﬁaﬁ#mmaﬁmﬁﬁ,

S 3l oeiage ) A AEE H ©7
(A) IVM
(B) JDK
(c) T
(D) JRE




PR RSERT

e rr————

87.

88.

89.

90.

How many copies of static and
class variables are created when 10
objects are created of a class?
(A) 1, 10

(B) 10, 10

(C) 10,1

(D) 1,1

Which of the method of Object
class can clone an object?

(A) Object copy( )

(B) Copy( )

(C) Object clone( )

(D) Clone( )

Which of these is a correct way of
inheriting Class A by Class B.

(A) Class B + class A {}

(B) Class B inherits class A {}
(C) Class B extends A {}

(D) Class B extends class A {}
What will S, contain after following
lines Java code

String S1 = "one";

1l

String S2 = S1. concat ("two");
(A) One

(B) Two

(C) Onetwo

(D) Twoone

US-15144\S
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87. & f&dl Fog & 10 Sided a1

88.

89.

90.

S & @t Rits 3R Fare Rided @
fperTt @rdt gt &7

(A) 1, 10
(B)
(©)
(D)

3ieide Folg & P a1 S -

10, 10
10, 1
i, 1

(A) Object copy( )

(B) Copy( )
(C) Object clone( )

(D) Clone( )
Frafofaa & @ a9 1 98 a1 ¢ 519
class B class A &I 39eRc PRdl &7
(A) Class B + class A {}

(B) Class B inherits class A {}
(C) Class B extends A {}

(D) Class B extends class A {}
S, &1 B¢ B J1q FrAfaRaa s

PIg UEIIaIE BNT?

String S1 = "one";

String S2 = S1. concat ("two");
(A) One

(B) Two

(C) Onetwo

(D) Twoone

P.T.O.

WO R RTINS




91,

o

93,

94.

Output of following Java code
class output

{

public static void main ( string args[])

{

string s1="Hello";

string s2= sl.replace ('I', 'w'");
system.out.print In(s2);

(A) hello

(B) helwo

(C) hewlo

(D) hewwo

Which of these classes is not in-
cluded in Java.lang?

(A) Byte

(B) Array

(C) Integer

(D) Class

Which of the following method of
process class can terminate a pro-
cess?

(A) void Kill()

(B) void destroy()

(C) void terminate()

(D) void exit()

Which of these values are returned

under the case of normal termina-

tion of a program.

(A) 0 (B) 1
{c) 2 (D) 3
US-15144\S
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21,

P

23,

94,

a1 B8 B AMHCYS anm
class output

{

public static void main (string args[])
{

string s1="Hello";

string s2= sl.replace ('I', 'W');
system.out.print In(s2);

(A) hello

(B) helwo

(C) hewlo

(D) hewwo

Pr=iferRag @ & @l A g java.lang
i wftafera =€t 21

(A)
(B) Array
(C) Integer
(D) Class

frafofaa & @ M99 F & B W
Horg MR B TRE R FahHaT 2l
(A) void kill()

Byte

(B) void destroy()

(C) void terminate()

(D) void exit()

frafafaa # @ Fhia ciFeE & wHa
s a9 ) deg Res aar 27

(A) © (B) 1

(C) 2 (D) 3
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95. Import Java.lang.system;

class output
{public static void main (string args(])

{
system.exit(5);
q
¥
(A) 0 (B) 1
(C) 4 (D) 5

96. Which of these is not a method of

Thread class?
(A) yield()

(B) sleep(long msec)
- (C) go()

(D) stop()
97. Output of following
program

public class testiner

{
public static void main (string args [])
{ inti=0;

i=i++ +i;
system.out.print In("I="+i);

{
g

(A) 1=0
(B) I=1
(C) I=2
(D) 1=3

US-15144\S

[25]

95. Import Java.lang.system,

class output
{ public static void main (string args[])

{
system.exit(5);
{
J
(A) O (B) 1
(€) 4 (D) 5

96. FrafaRaa & & @t wr e aoma @ dog
T8l -
(A) yield()
(B) sleep(long msec)
(C) go()
(D) stop()
97. Sl I B 3MITYT

public class testiner
¢
public static void main (string args [])
{ inti=0;
i=i++ +i;
system.out.print In("I="+i);

{
}

(A) I=0
(B) I=1
(C) I=2
(D) 1=3

P.T.O,
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98. What is the error in the given Java 98. TF 3@1 dI A T U &l

. ?
sodes byte b=50;
byte b=50;
b=b=x50;
b=bx50;
A) b 100 g 7€ & o, Fiid

(A) b cannot contain value 100, (A) é?q\

limited by its range. ¥ feties &2
(B) =xoperator has converted bx50 (B) =xoperator bx50 @ int § &Ia¢

into int, which can not be con-

< fear @, 59 arge & 89 cast-
verted to byte without cast-

ing & ®1a¢ TEl [dl ST Fad

ing
C) b Hlc &
(C) b cannot contain value (©) éﬂl
(D) No error in this code (D) @5 TR T8I &
99. An array elements are always 99. W vadcH ®I FHE ........... A
storedin ......... memory locations— e ¥ wR fear Jra € -
(A) sequential (A) sequential
(B) random (B) random
(C) sequential and Random (C) sequential and Random
(D) binary Search (D) binary Search
_ : 100.f59 3MReR &1 IvAW &7 FaR & IR
100.Which operator is used to invert all
. fefSea & TR INH=eeH | aca |
the digits in a binary representation \
far e &1
of a number?
(A) (A) ~
(B) <<< (B) <<<
(C) >>> (C) >>=
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